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Langen umwandeln

1) Rechne in Kilometern um.

a) 5000m=__ S lku d) 70000dm=_"1 \cwa
b) 18000 m =AY lewm e) 390 000 cm = 22 Ycuwn

c) 70000m=_30kwm  f) 50000000 mm=_SO km

2) Rechne in Kilometern um.
a) 9800m=Akm 0 m=4, & km

b) 5370m=Slam 0w = §, 34 km
c) 24700 m= 2l 0 W = 24T Lbun

d) 73442 m= Rl W2 wn = 13,44 b
e) 29058 m=28kur S8 = 24058 kw
f) 77005m = 7P Swa = 17,005 bon

3) Rechne jetzt umgekehrt. Wie viele Meter sind es?
a) 2468km= 7 km 868 m= 246% m

b) 6,270 km= Gk 20w = 6ZFOw

c) 35,670 km =‘g§'\¢w\ EOwm = ASG10m

d) 60,078 km= GO0 bu W = GO0 v

e) 24,001 km = Zhkan Am . = 2600 w,




